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SOCIOLOGY
(Social Change in Modern India )
PAPER—SOC- 1202
Full Marks :40
Time : 2 _hours
The figures 1}1 the right-hand margin }'ﬁdicate marks

Candjdates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary
GROUP—A
[ Marks: 20 ]
1. Answer .';my one of the following : 10x1
(a .) Discuss the concept of Rural-Urban continuum.

(6) Compare and contrast Hindu marriage with
Muslim marriage.
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(2)

Answer any two of the following : 5x2
(2) What is ‘dominant’ caste ?
‘( b) Discuss the kinship system of Nayars of Kerala.

(c) Discuss the any three changing functions of
' family in contemporary India.

GROUP—B
[ Marks: 201}
. Answer any one of the following : 10x1

(a) What is social mobility ? Discuss how
Sanskritisation leads to caste mobility. 5+5

() What is social inequality ? How did Berreman
explain it ? 5+5

Answer any two of the following : 5x2

(a) Distinguish between caste and class.
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3)

‘(b) Differentiate between ‘Varna’ and Jati’.

(c) Discuss the reIationship between caste and
politics. ‘
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